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Result follows by (converse of) Pythagoras, or any complete method.

6674 Pure Maths P4
June 2005 Advanced Subsidiary/Advanced Level in GCE Mathematics




83;51;2_" Scheme Marks
3. dy 2 _ | AHempt
3;:. t b42¢ 3 B 2e(x41) Y'aPy =@ Foem My
LF. = ef-;—i‘-;,o\x - elt«(l-m), } (l-tx)?' M1, Al
. (l-t?‘)l :J‘ xt 1) dx oR é_ 1) - x4l (J”u:.)
- J , L:n. ) = Ax(b (1+2) ) = AL M
l-e. (&(Ha)" => x + lax + (C) MiAi
b — 9‘- 'i‘Ll\’t- -+t C ﬁ‘l o
Qex)® ®
I+ NG, Fl=lo..  E(1a)=z 0w ) F(1:2)= -0-2437 --.
€(115)=z 0.0%9.-- ; BOu)= -2.05.
(@) | $(1-2) = - o-2a3%... | F’(I':-r)(::}lcis "y
£(1-t) = o-uz--. and Flus): 0-028-. Altept £0-1), fi4E) ‘M
". d - "l ﬂlc.a..a (3)
(v) F'lx)= beos2x —e™ ME AL
Ny = V-2 - ORI M|
€'(1-2) .
= l-el--- ) Awkt I-l6 1AL (y)
<) C(lss): oou --r---
( ( ) _ }<¢L¢.\5¢cpﬁl’9,‘> S = 116 Hi’
- 1es) = -0-026.-- ) I\ ,, . J
‘ - (2)
o, B = T Tke.. @
3674 Pure Maths P4

lune 2005 Advanced Subsidiary/Advanced Level in GCE Mathematics




T+ amlm% or o - dr'c-"u«% o eqpiv. in degrees M|
2
arg 2 = A-169 Al cao, (2)
Fedl meHiod frd
(tl') [Nl zJ-Z-o = \EO = % Uiing (wi=J20 M
= R = 0 Al
x (2xE L= ht2i I AL
Gl ALALLE
' 2
- - gz = axhaff) - («) M
©] org(g) = ergw - o (& |
= OLél... — 259 Ufa-kﬂ!r Al f (“)
= =[6%98-. awrt ~1To A (3)
BL@) g - coorn oust sl O
N a’_’j@)' —[Tl' oton (26-0?61— 1 Expresiion (2 ) Al
= awrt ~l-¥o0 A (2)
6 () \ A S ey
v Shepe . Vef—l-cx on n
-2 {3 2 x pesibive 2 -axis |
-2, 2 ]
L8 (W)
() % fp 2 20 -\ Mi
x?-Ix -3 = 0O = x=3 ’ - Al
Xt -t = - (2a-) Hi
Corceck 3 Ferm
2 4l-5 20 , = x =-2tll 12 Quadafc =0 |Al,
Y
x = -l i& Al (5)
@]  x<-1-J6 << e -t x>3 (Jaa)Bi);al gl
Accept 1:€. (3) @

6674 Pure Maths P4
June 2005 Advanced Subsidiary/Advanced Level in GCE Mathematics




- b
?'(b-) Zmz_t—S'm 42 =0 A'Hf;pﬁm:w‘ef M1
= m = "%_ 1‘2-,
. - ‘ -Xt
ch = R Zb’f‘@é C.F. Al
P“rk’c»{a— lnf:eoml,: X = Pl: -\'% P.T. Gl
5:._—.‘7,35. ENe) and sulr, i
= Sp +2q+2pb = 26+ > p=1,9-2 Al -
- -1 ™ Py
Geaeral solufon x = Ae 2&-1-&3 "b+i:+2 A'lf G 7,)
(©)
(‘J‘) x= 3, E-0 D - A+b+2 (Or AT(L‘-‘-'() Ml
%= -2ae7F Lt ) Rerp % M)
Zol, b0 D 1= -28 -36 +1 (or 4AtBz4) e Al
=13 b - 2 = -em
-2
Solovheg, - A=(,8=0 a~d k= e b-l-l;i-Z At
(4)
(('J X = -le"u“'+l =0 x-0 |HI
2= et Mo (wE) J.mia Ml
Mo = = e'“‘ﬁéuz £2
= b+t Lz +2
= L(S¢m2) @ Mes. (4

6674 Pure Maths P4
June 2005 Advanced Subsidiary/Advanced Level in GCE Mathematics




EDEXCEL FOUNDATION

Stewart House 32 Russell Square L.ondon WC1B 5DN
June 2005
Advanced Subsidiary/Advanced Level

General Certificate of Education

Subject 6674 Pure Mathematics Paper P4
%l;e;,gg? Scheme Marks

‘ 1
3. (a) ( R »l

Yo
L]
0

0

Mi

3
4a(l+cosd) = 3a€ or r -—-4a(1+-£)
cos r

4cos’8+4cos@-3=0 or 7’ —dar =124* =0 deP( Al
(20036’*1)(20039+3):0 0 (r-6a)(r+2a)=0 Mi

5

cos&z—l—,(ézfj or r=06a Al
2 3
Note ON =3a
PQz2xONtan%z6wj3a* cso | M1A] 6

or PQ:2X\/[(6G)2—(Ba)zJZZ\/(Z?az):é\Ba* S0

or any complete equivalent

®) 22 [ = [ 16" (1+cos0) a0 Jerde | M
=... J.“(l+2003t9+%+%cos28)dt9 cou'® 2028 | M1
3 ; |
= . 59+25m6’+zsm29 Al
use of the- (8

:16"2{%“}“%} (:2a2[47r+9x/3]z56.3a2) NIUR ’

Area of A Po@ = Ji,eﬁa,xu or 1°3 < 18]
R 202(87[+9\j3) cao | Al 7 @




